
R

R

V (R → 0) → ∞

R0

V (R → ∞) = 0

R0

N ⇒ N

⇒



~R = (x1, y1, z1
  

~R1

, x2, y2, z2
  

~R2

, ... xN , yN , zN
  

~RN

)

V (~R) N

~R0

⇒ → ~d N
~R = ~R0 + ~d = (x

(0)
1 + dx1, y

(0)
1 + dy1, z

(0)
1 + dz1, ...) → d1, ...d3N

N

V (~R) = V (~R0 + ~d) = V (~R0)
  

=

+
3N∑

l=1

∂V

∂dl
|~R0

  

=0

·dl +
1

2

3N∑

l,k=1

∂2V

∂dl∂dk
|~R0

  

=Flk

·dldk + ...

Flk N× N

V (~R0 + ~d) =
1

2

3N∑

l,k=1

Flkdkdl

H = T + V

Fkl



⇒ N →

C3v : E, 2C3, 3σv

→

Γ(G) Γ(G) G

G → Γ(G)

Γ(AB) = Γ(A) · Γ(B)

Γ(A−1) = (Γ(A))−1

Γ(E) = 1



C2h

C2h E C2 i σh

Γ
3−dim.





1 0 0
0 1 0
0 0 1









−1 0 0
0 −1 0
0 0 1









−1 0 0
0 −1 0
0 0 −1









1 0 0
0 1 0
0 0 −1





n Γ Γ
′

M M 6= Γ
′(A) = M−1

Γ(A)M A ∈ G

Γ =

(

A(11) 0

0 A(22)

)

~x =

(

x(1)

x(2)

)

x(1) n1 x(1) ∈ L1

x(2) n2 x(2) ∈ L2

Γ
red~x =

(

A(11) 0

0 A(22)

)(

x(1)

x(2)

)

=

(

A(11)x(1)

A(22)x(2)

)

⇒ x(i) Li

⇒ Li →



nµ Γ
(µ)



µ

n2
µ = g

χ
µ Γ

(µ)
Γ
(µ)

χ
µ(A) = SpurΓ(µ)(A) =



n

Γ
(µ)
nn (A)



A

χ
µ(A)χν(A) = gδµν µ, ν ∈



µ

χ
µ(Kr)χν(Ks) =

g

gr
δrs χ

µ(Kr) Kr

gr Kr



⇒

E K1 K2 K3 ←

↑

A,B

E

T

G

H

⇒

A χ
µ(Cn) = 1

B χ
µ(Cn) = −1

A1/B1 σv C2 ⊥ Cn
χ
µ(σv) = 1

A2/B2 σv
χ
µ(σv) = −1



Eg, Tg, Ag/Bg i χ
µ(i) = 1

Eu, Tu, Au/Bu i χ
µ(i) = −1

A′/B′ σh i ∈ G χ
µ(σh) = 1

A′′/B′′ σh i ∈ G χ
µ(σh) = −1

→ E1, E2, ...

Cn ⇒ ⇒

Γ(A) = χ(A) = r

Γ(E) = Γ(An) = rn = 1 ⇒ r = e
2πi

n 1 = e2πi

⇒ E

C3 E C3 C2
3

A
E r r2 ←

r2 r ←

C∞=̂R(α, z) α

z

C∞v E Cα

∞
∞σv

Σ
+=̂A1

Σ
−=̂A2

Π=̂E1 eiα

e−iα

∆=̂E2 e2iα

e−2iα

⇒ Σ
+,Σ−,Π,∆



D∞h E Cα

∞
∞σv i Sα

∞
∞C2

Σ
+
g

Σ
−

g

Σ
+
u

Σ
−

u

Πg α α

Πu α α

∆g α α

∆u α α



→

Γ
3N

Γ
3N

C2v

C2v E C2 σv(x, z) σv(y, z)

A1

A2

B1

B2

Γ

→ → →

1 → 1

2 → 2

→ → →

→ →

→ →

C2v



Γ

Γ(A) =


µ

Γ
(µ)
IRREP (A)

Γ(A) =






Γµ(A) 0

Γν(A)

0 Γσ(A)




 χ(A) =



µ

nµ
χ
µ(A)

nµ Γµ Γ

nµ =
1

g

∑

A

χ(A)χµ(A)

Td



Td E C3 S4 C2 σd

A1

A2

E

T1

T2

Γ

nA1
= 1

24
( 1 · 1 · 4 + 8 · 1 · 1 + 6 · 1 · 0 + 3 · 1 · 0 + 6 · 1 · 2) = 24

24
= 1

nA2
= 1

24
(1 · 1 · 4 + 8 · 1 · 1 + 6 ·−1 · 2) = 0

nE = 0

nT1
= 1

24
(1 · 3 · 4 + 6 ·−1 · 2) = 0

nT2
= 1

24
(1 · 3 · 4 + 6 · 1 · 2) = 24

24
= 1

Γ = A1 ⊕ T2 =

(

A1 0

0 T2

)



D = U−1FU

D =






D1 0

D2

0 D3






N Di ⇒ Di ∼ ω2
i

U =









q1,1 q2,1 ... q3N,1

q1,2 .

. .

q1,3N q2,3N ... q3N,3N









~qi = (q1,i, ...q3N,i) ⇒ N

Γ Γ = a

Γ =


µ

nµΓ
(µ)

Γ
(µ) = lµ

A a× a Γ [A,Γ] = 0

A

A =


µ

lµA
(µ) A(µ) = nµ

A Γ 3N

l n Γ n l

Γ = A1 ⊕ T2

A1 T2

⇒



Td

Γ

Γ

χ(Γ)

Γ

Td E C3 S4 C2 σd

Γ

→

1→ 1

x → z x → y x → x x → y

y → x y → −x y → −y y → −x

z → y z → −z z → −z z → z



Γ Td

Td E C3 S4 C2 σd

A1

A2

E

T1

T2

Γ

nA1
= 1

24
(15 · 1 · 1 + 0 · 1 · 8 + (−1) · 1 · 6 + (−1) · 1 · 3 + 3 · 1 · 6) = 1

nA2
= 1

24
(15 + 6− 3− 18) = 0

nE = 1
24
(30− 6) = 1

nT1
= 1

24
(45− 6 + 3− 18) = 1

nT2
= 1

24
(45 + 6 + 3− 18) = 3

⇒ Γ = A1 ⊕ E ⊕ T1 ⊕ 3T2

A1 → ωi

E → ωi

T1 → ωi

T2 → ωi

⇒ ωi = 0 ωi = 0

x, y, z

Rx, Ry, Rz Td

Td E C3 S4 C2 σd

ΓTrans =̂T2

ΓRot =̂T1



T2 ⇒ ωi T2

T1 ⇒ ωi T1

Γ = A1 ⊕ E ⊕ 2T2

G

H G

⇒ G H Γ
µ
G

ΓH

Γ = A1 ⊕ E ⊕ 2T2

4 → 3 Td

C3v

→ T2 C3v C3v

C3v E C3 σv

A1

A2

E

T2

⇒ T2 = A1 ⊕ E

⇒ Td



Γ
(µ)

U

Γ
(µ)

D⃗ ∼


R∈G

χ
µ(R)Rd⃗

R

d⃗

Rd⃗ d⃗

χ
µ(R) Γ

(µ) R

⇒

2 C2v

Γ 2



C2v E C2 σv(x, z) σv(y, z)

A1

A2

B1

B2

Γ

ΓTrans = A1 ⊕ B1 ⊕ B2

ΓRot = A2 ⊕ B1 ⊕ B2

ΓV ib = 2A1 ⊕ B1

Γ



C2v E C2 σv(x, z) σv(y, z)

A1

A2

B1

B2

1 1 3 1 3

2 2 4 2 4

C2v E C2 σv(x, z) σv(y, z)

A1

A2

B1

B2

χ(A1) 1 1 3 1 3

χ(A1) 2 2 4 2 4

χ(B1) 1 1 3 1 3

χ(B1) 2 2 4 2 4

DA1
(d1) ∼ d1 + d3 + d1 + d3 ∼ d1 + d3

DA1
(d2) ∼ d2 − d4 + d2 − d4 ∼ d2 − d4

DB1
(d1) ∼ d1 − d3 + d1 − d3 ∼ d1 − d3

DB1
(d2) ∼ d2 + d4 + d2 + d4 ∼ d2 + d4





⟨ψ1|

|ψ2⟩

A

A12 =



ψ∗

1(r⃗)Âψ2(r⃗)d
3r = ⟨ψ1|A|ψ2⟩



A12 =



ψ∗

1(r⃗)Âψ2(r⃗)d
3r = ⟨ψ1|A|ψ2⟩

ψ∗

1(r⃗)

Â

ψ2(r⃗)

Γ
(µ)

Γ = Γ
(µ) ⊗ Γ

(ν) ⇒ χ
Γ = χ

µ · χν

A1



C3v

C3v E C3 σv

A1

A2

E

A1 ⊗ A1 =̂A1

A1 ⊗ A2 =̂A2

A1 ⊗ E =̂E

A2 ⊗ A2 =̂A1

A2 ⊗ E =̂E

E ⊗ E =̂E ⊕ A1 ⊕+A2

⇒ ϵ⃗

E (⃗ϵ) = E(0) +
3

k=1

∂E

∂ϵk
|0

  

µk

·ϵk +
1
2



k,k′=1

∂2E

∂ϵk∂ϵk′
|0

  

α
kk′

·ϵkϵk′ + ...



λ

c

µ⃗ = (µx, µy, µz)

α =






αxx αxy αxz

αxy αyy αyz

αxz αyz αzz






x2, y2, z2

xy, xz, yz

⇒

Td



A1, E, T2, T2

µ⃗ T2

A1

A1 ⊗ T2 ⊗

A1 ⊗ T2 ⊗ A1 = T2 ⇒ A1

A1 ⊗ T2 ⊗ E = T1 ⊕ T2 ⇒ A1

A1 ⊗ T2 ⊗ T2 = A1 ⊕ ... ⇒ A1

T2


